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Algebra 2

Chapter 9: Rational Equations and Functions
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Graph each function.
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5)  f (x) = 
−x − 2

x2 + 2x − 3
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6)  f (x) = 
x3 − 5x2 + 4x
4x2 − 4x − 24
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7)  f (x) = 
x2 − 4
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x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

8)  f (x) = 
x2 − x − 12
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Simplify each expression.

9)  
5x − 3

15x + 3
 + 

5x
2

10)  
5

5x + 4
 + 

2

x − 5

11)  
3p

3p − 6
 − 

2

5p − 6
12)  

6

p − 6
 + 

5p
p + 4

13)  
3n
2

 + 
n − 3

3n3 + 6n2 − 9n
14)  

5m
m − 5

 + 
m − 1

10m − 6
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15)  
m − 3

3m2 − 3m − 6
 − 

5m
3

16)  
5n

3n2 − 27n + 60
 + 

2

3

17)  
15n3 − 40n2

n + 9
÷

21n − 56

10n3 + 90n2 18)  
12r − 40

r2 − 2r − 48
 ⋅ 
r2 − 2r − 48

6r − 20

19)  
4 + 3n − n2

n + 1
÷
n2 − 2n − 8

42n2 20)  
7n − 35

4n − 28
 ⋅ 

9

9n − 45

21)  
5

25n + 20
÷

9n + 18

25n + 20
22)  

10r − 90

r2 − 14r + 45
÷

1

r2 − 10r + 25

23)  

u
5

 − 
u + 5

5

u + 5

u2

24)  

x + 5

x + 4

x + 4

x + 3
 − 
x + 4

x + 5

25)  
x2 − 4x
x2

x − 4
 + 
x − 4

x2 26)  

1

8
 − 
x
2

x − 4

16
 + 
x − 4

2

27)  

9

x − 5
 − 

x
x − 5

x2

x − 5
 − 

2

x − 5

28)  

3

a − 4
 − 

a
16

a2

12
 + 
a
16

Solve each equation.  Remember to check for extraneous solutions.

29)  
1

3k
 − 

4k − 16

6k2 − 15k
 = 

4k + 8

6k2 − 15k
30)  

1

x − 5
 = 4 + 

6

x − 5

31)  
2m − 6

m2 + 9m + 20
 − 

m − 3

m2 + 9m + 20
 = 

1

3m + 15
32)  

1

p2 − 5p − 6
 + 

4

p + 1
 = 

2

p2 − 5p − 6

33)  
x + 5

x
 − 

5

x − 3
 = 
x2 − 7x + 6

x2 − 3x
34)  2 = 

1

3x2 + 30x + 75
 + 

1

3x + 15



©c d2G0r2G0q ]KMuMtRao iSYoyfptVwsaGrde[ qLeLmCB.A ] IAjlala ArqiYgehrtHsm BrfesstearVvTeudU.G Q XMVacd_ej qwXiftwhE uIYn]fEi_nwiAtse\ BArlYgAeYbXrxaD C2B.

Worksheet by Kuta Software LLC-4-

35)  
b − 6

b
 = 
b − 4

b
 + 

b − 6

b2 + 2b
36)  

1

b2 + 6b
 = 
b − 4

b
 − 
b + 2

b
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Answers to Chapter 9: Rational Equations and Functions (ID: 2)
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9)  

25x − 6 + 75x2

6(5x + 1)

10)  
15x − 17

(x − 5)(5x + 4) 11)  
5p2 − 8p + 4

(p − 2)(5p − 6) 12)  
−24p + 24 + 5p2

(p − 6)(p + 4)
13)  

9n4 + 18n3 − 27n2 + 2n − 6

6n(n − 1)(n + 3) 14)  
51m2 − 36m + 5

2(m − 5)(5m − 3) 15)  
11m − 3 − 5m3 + 5m2

3(m − 2)(m + 1)
16)  

−13n + 2n2 + 40

3(n − 5)(n − 4) 17)  
50n4

7

18)  2
19)  −

42n2

n + 2

20)  
7

4(n − 7) 21)  
5

9(n + 2)
22)  10(r − 5)

23)  −
u2

u + 5

24)  
x3 + 13x2 + 55x + 75

2x2 + 16x + 32
25)  

x5 − 8x4 + 16x3

x4 + x2 − 8x + 16
26)  

2 − 8x
9x − 36

27)  
9 − x
x2 − 2

28)  
144 − 3a2 + 12a
4a3 − 13a2 − 12a

29)  {1

2} 30)  {15

4 }
31)  {13

2 } 32)  {25

4 } 33)  {21

4 } 34)  {− 9

2
, −

16

3 }
35)  {2

3} 36)  {− 37

6 }


